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252’1 32,830,000 6,930,OOO 39,'?60,000

2528 289,360,OOO 270,500,u00 559,920,000

2529 683,120,OOO 610,510,OOO 1,293,630,000

2530 530,490,000 327,900,000 858,390,OOO

aaaJ 1,535,000,000 1,251,900,000 2,750,700,000

54.9% 45.1% 100%
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Profit Margin on Sales =

Return on Total Assets =
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1 2 3

4 . 8 0 0

4 . 0 5 0

0 . 7 5 0

2 . 4 0 0

2 . 4 0 0

2 . 4 0 0

0 . 4 0 0

0 . 8 0 0

0 . 4 0 0

0 . 4 0 0

1.200

0

0 . 1 6 0

- 0 . 1 6 0

- 0 . 1 6 0

1 2 . 0 0 0 1 4 . 8 0 0

1 1 . 9 2 5 1 5 . 5 7 0

0 . 0 7 5 - 0 . 7 7 0

6 . 0 0 0 7 . 4 0 0

6 . 0 0 0 7 . 4 0 0

4 . 4 0 0 5 . 0 0 0

1.000 1 . 2 0 0

1 . 8 0 0 2 . 2 0 0

0 . 9 2 0 1 . 1 2 0

0 . 8 8 0 1 . 0 8 0

1 . 6 0 0 1 . 6 0 0

1 . 6 0 0 2 . 4 0 0

0 . 1 2 0 0 . 2 8 0

1 . 4 8 0 2 . 1 2 0

0.160 0 . 2 0 0

1 . 3 2 0 1 . 9 2 0
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